2023 T RARFEBRF IR 2023/05/14
Problem F. ¥Fik1T

B on METHR AT, F i METHEEN ¢, LEBES—MUED v KIER.

BRZERTHAETETRKT . BRIKTH, B2BIAKRTNES 2 5—1THEHES
A = {ay,a,--- a5}, HRIE ¢, € Ae RITHNEE o DT LIFIR - EIRITHIR, WREERT
A, PR LAARET (i — 1) B (i + 1) %5h, EAEBEIELX n MET 25 BAEERNZ], &
SRS T RIS L HE RS A

HEATAET o B, EATDLERRRE T LAVERBGE, HIRE o IBUE . T8 M7 ERE—1E,
— %7 L AR R RERICE — IR -

EHUESS R ¢ KARIE, BIRBAEAILUT =M EZ —:

e lpa: R ¢, BHEN a-
o 2pa: K v, BEOY z-
e3xkayay ... ap: BERTHER 2 5—PHOES A = {a1, a0, -, ag} - BORWFRIITIXRE

M —KIRAT, SREBCGEMERIPUEZ MR AR LD - ER, BT RATUUB ST —IRIRTT
HAZERBCEREMEK. B, FrA e BRI .

Input

BLEAMREIE . FITWMA— D T FRMREERAE . X TEANNREDE:
FATRARNER n fl g (1<n<10°, 1<¢<10°) RS TFREERMRIENEE -
FEATRA 0 DB e, 00 (1< <n) , B o FRE § PRTHINIIREE

F=ATHEIN n DR v, vo, . v, (1< <107) , HA o FoREE ¢ DT BAERBIRIRUE -
SIFHETR ¢ 17, 5 0 ITHIRSE ¢ aRlE, BT

elpax: RRiIE1<p<nH1<z<n-

e 2pux: 1%ift1§pgnﬂlgx§1090

e3zkajay ...ap: RE1<z<nHl1<a<a<..<a<nHec €{a,a, - a1}
PRIETEEUE n 25 ¢ ZFENET 3 x 10°, HArEEE k 2T 100 .
Output
KRG UHRE 3 it — A, TR BGEIBRAORUE 2 AR (A
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Example

standard input

standard output

2

R PSP OFRPLPNEFEWOWWOWDNDDNDWWE R~ ON
P P, NRP WOWWwWwo ww

2

1000000 1000000 1000000 1000000

3 4

10

312

10 100 1000 10000

13
223
20000
200
213
3123
4
100000
2

212

3 4

41234

100

110
1200
21211
100010
4000000
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